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S QTR
TR e 22l M
Rl Atetd e EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| OXaH - Metibl gesd 1,800
SUMaioY s 20,000 20,000
201 LBzl 20,000 20,000
01 At2teltl 20,000 20,000
OHEIt HMEH X SAHA WF 20,000
224 AtgoragAae] =8 33,000 0 33,000
201 et 3| 33,000 33,000
01 Ar2teltl 33,000 33,000
OUME AR 2HES 1,000
Oue|L=A HEBHNF(AE) 16,000
OZZ2X tHEA WE Wl S 8,000
ONRE 2R 8,000
CINEDIRE A2 ot 2] AIAE 25 1,200,000 0 1,200,000
= 600,000
T 180,000
Al 420,000
401 AIZHIX S0HH 1,200,000 0 1,200,000
= 600,000
= 180,000
Al 420,000
01 AlHI 1,200,000 0 1,200,000
OUIIZIEr AILE orEpR| NAY 7= 1,200,000
= 600,000
& 180,000
Al 420,000
JIECe EEEeEY e 9,79 9,790 0
= 2,584
& 1,034
Al 6,172
201 Zet2d] 9,790 9,790 0
= 2,584
= 1,034
Al 6,172
03 Ar2 I 9,790 9,790 0
oNLtS eEsRE 9,790
= 2,584
s 1,034
Al 6,172
FISAHS JIZLBAE XA 73,000 50,000 23,000
206 M=z Hl 73,000 50,000 23,000
01 =4l 73,000 50,000 23,000
OFWASB JZLSAIS XHAIR 73,000
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3 XHHXHgH e MA 7=
Rl Atetd e EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
MtsSstdas 29 34,330 34,330
201 er23 | 34,330 34,330
01 At2teltl 34,330 34,330
ontssdad 24 34,330
Sroldad SESFH(ZE) 1,680,000 0 1,680,000
[ 1,200,000
= 480,000
401 Al HIZ R 0HbI 1,680,000 0 1,680,000
[ 1,200,000
= 480,000
01 Al&HI 1,680,000 0 1,680,000
OSsoldegd SEFHI(ZE) 1,680,000
= 1,200,000
=S 480,000
Mo Hul(S4) 2,079,000 446,600 1,632,400
= 215,000
< 86,000
Al 1,778,000
401 Al HIZL 01| 2,079,000 446,600 1,632,400
= 215,000
== 86,000
Al 1,778,000
01 Al&HI 2,079,000 446,600 1,632,400
OMHE XY FHI(S4) 2,079,000
= 215,000
=S 86,000
Al 1,778,000
o1& XIS FHI(0]&) 1,209,600 0 1,209,600
= 864,000
= 345,600
401 Al HIZL 01| 1,209,600 0 1,209,600
= 864,000
== 345,600
01 Al&H| 1,209,600 0 1,209,600
OMHIZ XIS ZHI(Dl4H) 1,209,600
= 864,000
< 345,600
oI XIS ZHI(521) 2,524,000 0 2,524,000
401 AIEHIZ SR OHYI 2,524,000 2,524,000
01 Al&HI 2,520,000 2,520,000
OMBHAZ XS HHI(=2!) 2,520,000
03 Al 20HHI 4,000 0 4,000
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S WMol 22l MA +=5
el THerd 2t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
BEEEEEEEEEIED 4,000
o X Hul(25) 4,088,000 1,820,000 2,268,000
= 2,920,000
S 1,168,000
401 Al HIZ S OHHI 4,088,000 1,820,000 2,268,000
[ 2,920,000
= 1,168,000
01 AlZ8| 4,088,000 1,820,000 2,268,000
OMHAS XS EHI(2E) 4,088,000
[ 2,920,000
= 1,168,000
ST A SULIEXS Zd| 1,631,000 170,000 1,461,000
= 1,165,000
[ 466,000
401 A& HIX R0 1,631,000 170,000 1,461,000
[ 1,165,000
S 466,000
01 A28l 1,631,000 170,000 1,461,000
OSZAA SUASXS FHI(42) 315,000
[ 225,000
= 90,000
OSB3 ALK SUULAE XIS HHI(AHAMEHO) 1,316,000
s 940,000
== 376,000
=NRAE EXI(SAXIF) 3,900,000 650,000 3,250,000
= 3,000,000
= 900,000
401 Al HIZ S OHbI 3,900,000 650,000 3,250,000
= 3,000,000
= 900,000
01 Al&HI 3,575,000 650,000 2,925,000
SEMFAE EXI(EHAKIF) 3,575,000
= 2,750,000
S 825,000
02 Zeltl 321,750 0 321,750
OR+=MFAIE &EXI(SAXIF) 321,750
= 247,500
< 74,250
03 Al = THHI 3,250 0 3,250
ORF=MFAIE EXI(s2XF) 3,250
= 2,500
= 750
SHAEH &2 83 N2 15,667 17,400 A1,733
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< 4,700
Al 10,967
201 er23| 15,667 17,400 A1,733
= 4,700
Al 10,967
01 At2teltl 15,667 17,400 A1,733
ORHRAEH d&)| 15,667
= 4,700
Al 10,967
At 29 40,000 37,000 3,000
< 4,500
Al 35,500
201 =3 27,000 24,000 3,000
S 4,500
Al 22,500
01 At2teltl 12,000 10,000 2,000
OXtsg M 24| 12,000
02 S3=gl 15,000 14,000 1,000
OXt=g M doi2S X 15,000
= 4,500
Al 10,500
301 22N 5,000 5,000
11 AALAEIXIES 5,000 5,000
OXtsZHE Sl & HzEshl 5,000
302 01 Mol 2 &= 8,000 8,000
02 2RI S HES243 8,000 8,000
OIILS2A Ha2F 2Satl 8,000
ARIOHNE S 350,000 350,000 0
= 54,987
Al 295,013
307 @I2to1 & 350,000 350,000 0
== 54,987
Al 295,013
06 2= 350,000 350,000 0
OAIIHNES 350,000
< 54,987
Al 295,013
et +MEE &2 33 =4 500,000 500,000
401 AlEHIZ 2 0HbI 500,000 500,000
01 Al&H| 500,000 500,000
Ozt 2FNFE &2 & &4 500,000
S0l 28 120,000 120,000 0
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Rl Atetd e EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 10,000
Al 110,000
307 lztol & 120,000 120,000 0
= 10,000
Al 110,000
06 2= 120,000 120,000 0
O3l 28 A 120,000
= 10,000
Al 110,000
Mol ?1e &AL S 200,000 0 200,000
< 80,000
Al 120,000
401 Al HIZL 201 200,000 0 200,000
& 80,000
Al 120,000
01 Al&H| 200,000 0 200,000
OMcHAE AL FHl 200,000
= 80,000
Al 120,000
AHATHOH XIS 30,000 30,000 0
302 OI==H o2 &= 30,000 30,000
02 2t S HES2a=3 30,000 30,000
OXA ol MHXIE= 30,000
ML THAIE 23 500,000 420,000 80,000
101 @124H| 112,000 0 112,000
M ORNZZ2NSE S 112,000 0 112,000
Obfi=8Id MIjetd eIt S 21At| 112,000
201 Ler23| 388,000 420,000 A32,000
01 At2teltl 8,000 0 8,000
Oti+8Zd 225 7Y 8,000
02 S3=gHl 380,000 420,000 240,000
OMeHAIEX T B+-BEH S SER= 300,000
OMHASEX T Bi+=BZH S AIEFXIHI 80,000
THEE O - SEAIE 2 140,000 120,000 20,000
201 er2 3| 140,000 120,000 20,000
02 S5=2g4l 140,000 120,000 20,000
OdtEZAIE CTV &D| Seles 90,000
O o - BEAEEE |X 40,000
OXIEIIEEAFI| AIZEH A 10,000
SE MtaEd 25 1,750,000 0 1,750,000
401 AIEHIZ SR 0HYI 1,750,000 1,750,000
01 Al&HI 1,750,000 1,750,000
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2,475 762

Qg NE2HHI(<HI) 19,620 26,220 26,600

201 2= 18,000 24,600 26,600

H
o
~
S

Al 12,600

01 AFS2t2ltl 18,000 24,600 26,600

in
(@2
~
8

Al 12,600

405 KHAHF SH 1,620 1,620 0

N
8

Al 1,134

01 ML ESFHSHI 1,620 1,620 0

oulgused JINM &S 1,620

n
8

Al 1,134

Qe Hlas=Ald &5 65,000 0 65,000




QA ORI EED
I Mol 22l MA +=5
o 2R 2l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 19,500
=S 13,650
Al 31,850
401 Al HIZ R 0HbI 65,000 0 65,000
= 19,500
= 13,650
Al 31,850
01 AlZH| 65,000 0 65,000
oug? Hlads+AE 23 65,000
= 19,500
= 13,650
Al 31,850
2P HIAIE HIYES 2EAMY 60,069 0 60,069
=S 18,021
Al 42,048
201 fer=3| 60,069 0 60,069
== 18,021
Al 42,048
01 AtR2t2lt] 60,069 0 60,069
oux? HIAE W HaES 7Y 60,069
& 18,021
Al 42,048
g ussd A0Sk 29 20,000 20,000
201 er2 3| 20,000 20,000
01 AtR2t2|HI 20,000 20,000
oug? us=d dUSK 24 20,000
g &dl 2 10,000 10,000 0
206 M=H| 10,000 10,000
01 M= Hl 10,000 10,000
oglgel Fdl # 10,000
OiHl=2 s4X& 261,000 200,000 61,000
308 XXM SO0IH 65,000 65,000 0
10 0HlZsSdA2E4Ex 65,000 65,000 0
OLHMRA(2SZHIXE) 65,000
403 AXIEHMSAH=0ld 196,000 135,000 61,000
03 oBl=2sdXAN2Ex 196,000 135,000 61,000
OgdHM |7 & ANERNES 196,000
MNRISRE 2oz K& 816,296 631,000 185,296
301 Eet2 NS 816,296 631,000 185,296
0 M=SRQEEYS 816,296 631,000 185,296
OAI=2F 85 S 816,296
plgtel 28 ARIAIS off & 45,000 0 45,000
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I Mol 22l MA +=5
o 2R 2l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 12,000
=S 12,000
Al 21,000
401 Al HIZ R 0HbI 45,000 0 45,000
= 12,000
= 12,000
Al 21,000
01 AlZH| 45,000 0 45,000
O BE AKX oA 45,000
= 12,000
= 12,000
Al 21,000
AF2LIH(HFHD) 89,136 154,766 65,630
JlE2ZHI(eHE FH 2D 89,136 82,068 7,068
JlE2ZH(tE F 20t 89,136 82,068 7,068
201 2egh=3| 65,856 59,568 6,288
01 At2t2ltl 40,8% 34,568 6,288
Oggt=ZH| 21,700
C=E 16,456
Ol - &7 - Eged S 274 =4 2,700
02 s3=gHl 25,000 25,000 0
osE2= & HA 25,000
202 04| 19,080 18,900 180
01 SLHoIH 19,080 18,900 180
OJ|=geR=A0| 19,080
203 HRP=H] 4,200 3,600 600
M FAZSLRFAI 4,200 3,600 600
ORNEgE =AY 350,000 x 122 4,200
Ko & THEH Ol 3,941,000 3,713,000 228,000
WHSHeHXI S (A1) 3,941,000 3,713,000 228,000
Met2e| iz X 3,941,000 3,713,000 228,000
@R I1=sdES 3,941,000 3,713,000 228,000
01 JIsdEs 3,941,000 3,713,000 228,000
oMt2eE ARNES 3,941,000




